
SealerSales KF-300F 
12" Foot-Operated Impulse 

Sealer w/ 2.5mm Seal Width

Parts List

https://www.mybinding.com/
tel:1-800-944-4573
http://www.mybinding.com/sealersales-kf-series-12-foot-sealers.html?sku=KF-300F


 Foot Sealers
(KF-300F, KF-450F, KF-600F)
Spare Parts D I A G R A M

49

34A

52

55

60

63A

67

69
66

33

53
62
42

13

72
1

10

32

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com
http://www.mybinding.com/sealersales-kf-series-12-foot-sealers.html?sku=KF-300F
http://www.mybinding.com/sealersales-kf-series-18-foot-sealers.html?sku=KF-450F
http://www.mybinding.com/sealersales-kf-series-24-foot-operated-impulse-sealers.html?sku=KF-600F


 Foot Sealers
(KF-300F, KF-450F, KF-600F)
Spare Parts D E T A I L E D D I A G R A M

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com
http://www.mybinding.com/sealersales-kf-series-24-foot-operated-impulse-sealers.html?sku=KF-600F
http://www.mybinding.com/sealersales-kf-series-18-foot-sealers.html?sku=KF-450F
http://www.mybinding.com/sealersales-kf-series-12-foot-sealers.html?sku=KF-300F


 Foot Sealers
(KF-300F, KF-450F, KF-600F)
Spare Parts P A R T S L I S T

Part Number Description Part Number Description

1 Body 34 Heating Element Fix ed Ass. Case

2 Timer 35 Heating Element Fix ed Assorted Screw

3 Pilot Lamp 36 Heating Element Fix ed Assorted Bolt

4 Fuse Holder 37 Heating Element Fix ed Assorted Driv ing Plate

4A Fuse 38 Heating Element Fix ed Assorted Fix ed Bolt

5 Timer Knob 39 5/32 x 1 Screw

6 On/Off Sw itch 40 Heating Terminal Cov er, End Cap

7 5/32 x 1/4 Plane Screw 41 1 1/4 Plane Screw

8 Upper Jaw 42 Microsw itch

9 Sealing Plate 43 Miscrosw itch Upper Fix ed Plate

10 Silicone Rubber 44 Miscrosw itch Low er Fix ed Plate

11 5/16 x 1/4 Screw 45 Microsw itch Fix ed Nut

12 Upper Puller 46 Microsw itch Driv ing Plate

13 Pressing Spring, Small 47 Microsw itch Fix ed Bolt

14 Puller Fix ed Plate 48 Buckle (Bushing)

15 Upper Puller Fix ed Nut 49 Pow er Cord

16 3/16 Nut 50 Guard Plate / Fix ed Plate

17 3/16 x 2 1/2 Screw 51 5/32 x 1/4 Plane Screw

18 Ax is Collar 52 Stand

19 3/8 x 1 Screw 53 5/16 x 16 Corner Screw

20 3/8 Nut 54 5/16 Nut

21 Transformer 55 Base

21-1 Transformer Cov er 56 5/16 Nut

22 3/16 x 2 1/2 Screw 57 5/16 x 3/4 6 Corner Screw

23 Guard Plate / Fix ed Plate 58 Rubbert Foot

24 3/16 Nut 59 5/16 x 3/4 6 Plane Screw

25 1/4 x 3/4 6 Corner Screw 60 Pedal

26 Teflon Adhesiv e Cloth 61 3/8 x 1 1/2 6 Corner Screw

27 Heating Element 62 Pressing Spring, Large

28 Teflon Roller 63A Pulling Pole Set (Includes #63, 64, 65)

29 Teflon Cloth 63 Dow n Puller Hook

30 Teflon Rear Press Bar 64 5/16 Nut

31 1/4 Nut 65 Dow n Puller Hook

32 Teflon Front Press Plate 66 Lev el Plate

33 3/16 x 1/2 Plane Screw 67 1/4 x 16 Corner Screw

34A Heating Terminal Assembly (Includes #34-38) 68 1/4 Nut

69 Working Plate

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com
http://www.mybinding.com/sealersales-kf-series-12-foot-sealers.html?sku=KF-300F
http://www.mybinding.com/sealersales-kf-series-18-foot-sealers.html?sku=KF-450F
http://www.mybinding.com/sealersales-kf-series-24-foot-operated-impulse-sealers.html?sku=KF-600F

	portrait-cover-template.pdf
	Blank Page




